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11. Which one set of letters when sequentially placed at the gaps in the given letter
series shall complete it ?
-wi — w-nt-in- wi_
(a) nttwiwn (b) ttinwin (c) tntiwtn (d) tntwitn 
Directions (12-16) : In each of the following questions a series is given, with one
term missing. Choose the correct alternatives from the given ones that will 
complete the series.

12. FNC. HQG, JTK, ? .
(a) LXO (b) LMO (c) KMT (d) LWO

13. 44, 56. 69, 83 ? 114
(a) 90 (b) 98 (c) 100 (d) 110

14. 6, 7, 18. 23, 38 ?
(a) 49 (b) 47 (c) 87 (d) 92

15. Question Figures:

16. Question Figures:

Directions (17-18): Some numbers are given in different Rows/Columns. Which one
of the given Rows/Columns are connected/related with each other in some way?

17. I II III IV V
1 216 4 64 5 729
2 36 5 16 25 81
3 6 12 4 16 9
4 252 11 80 17 810
5 42 6 20 19 90

Columns
Rows

(a) I, III and V (b) II, IV and V (c) II, III and V (d) III, IV and V

18. I II III IV V
1 8 11 4 3 12
2 62 1320 60 24 9
3 115 110 12 6 6
4 113 1210 48 18 3
5 121 1452 80 36 30

Columns
Rows

(a) Columns II, III and V (b) Columns I, III and V
(c) Columns I, III and IV (d) Columns II, III and IV
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19. If RUSH is coded as 66, then how is GIRL coded as ?
(a) 75 (b) 64 (c) 47 (d) 46

20. If TORTISE is coded as VQTVKUG. ELEPHANT is coded as
(a) GRJPVNOR (b) RNRQGCOV (c) GNGRJCPV (d) GRJCFVGN

21. ‘Suma’ is shorter than ‘Uma’, ‘Neha’ is taller then 'Suma', ‘Sudha’ is taller than
‘Uma” but shorter than 'Hema'. ‘Uma’ is taller than ‘Neha’. Who is the tallest 
among them?
(a) Hema (b) Uma (c) Sudha (d) Neha

22. Pointing to a lady in a photograph, Meena said, “Her father's only son’s wife is my
mother-in -law". How is Meena’s husband related to that lady in the photo?
(a) Nephew (b) Uncle (c) Son (d) Father

23. If day before yesterday was Friday, what will be the third day after the day -
after- tomorrow?
(a) Thursday (b) Friday (c) Saturday (d) Sunday

24. In a row of 16 girls, when Hema was shifted by two places towards the left she
became 7th from the left end. What was her earlier position from the right end ?
(a) 7th (b)8th (c) 9th (d) 10th

25. Your age is 10 years less than half your mother’s age who is 5 years younger than
your father. If your father is 45 years old what is your age ?
(a) 20 years . (b)15 years (c) 10 years (d) 5 years
Directions (26-27): In the table given below, the first two digits from the left form
the Stock Exchange numbers and the last four digits broker numbers Now, answer 
the following questions.

193150 182732 172595 183592
184323 132959 192732 138303
272591 277801 186791 177000
132958 195132 273982 193080
293610 183218 132808 276119
272594 172600 172959 293582

26. Which of the following Exchange has maximum number of brokers?
(a) 18 (b) 27 (c) 17 (d) 13

27. Which Exchange is represented minimum number of times?
(a)19 (b)13 (c)29 (d)17
Directions (28-29) : In each of the following questions select the missing number
from the given responses.

28.

5 8 13
6 9 15
4 12 ?
60 432 1560

(a) 16 (b) 32 (c) 29 (d) 120
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